ﬁ’sj Statewide Hiring Event

North Carolina Department of Public Safety / Prisons

DEPARTMENT OF PUBLIC SAFETY

Start your Career Today!

Consider a career in Corrections We cordially invite you to attend this event!

Correctional career readiness staff will be
NCDPS, Adult Corrections- Prisons is recruiting available to talk with you about the local
applicants for Correctional Officer positions in facilities and assist you with the online
your local area! Among many benefits, our staff application process.

enjoy Health Care, Retirement Plans, Increased
Starting Salaries, Paid Vacation and Holidays

Correctional Officers must be at least 20
years old, pass a criminal background

Prepare for a Career in Corrections check, have a high school diploma or GED,
along with other requirements.

Successful completion of the Correctional
Officer Physical Abilities Test. This is

required at all DPS prison facilities. For a Correctional Officer Positions

brief video of the COPAT assessment, as Correctional Officer I: $30,856
well as a preparation guide, please visit CormectionallGhicain $31:904
www.ncdps.gov/copat Correctional Officer Ill: $34,190

Correctional Officer Trainee Il: $30,856

Apply T ST R T ) Correctional Officer Trainee lll: $30,856

Complete the application in advance at
www.ncdps.gov/careers/correction or
select the code below with a mobile device. For more information: (910) 875-5059

-, A 44 =
Event Information

Please print your completed application and bring with you

When: April 21, 2017

Where: NC Works Career Fair
310 Birch Street Raeford, N.C. 28376

Time: 9a.m.-12 p.m.
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